RFB 2023-094 Annual Contract for Tactical Gear

			Z Bar Supply Company LLC Muleshoe, TX HUB - No CO-OP - Yes			RG Beck AZ, Inc. dba TYR Tactical, LLC. Peoria, AZ HUB - No CO-OP - Yes				
Item	Description	Qty	Unit Price Ext Price			Unit Price		Ext Price		
Section 1 Tactical Entry Body Armor Carrier System			,				Primary Award			
1A	Carrier Vest	33	\$ 3,7	50.00	\$	123,750.00	\$	2,777.06	\$	91,642.98
1B	Carrier Accessory Pouch	60	\$	45.00	\$	2,700.00	\$	133.00	\$	7,980.00
	10%				15%					
Section 1 Total			\$ 126,450.00			\$ 99,622.98				
Section 2 Stand Alone Tactical Shield System						Primary Award				
2A	Stand Alone Tactical Shield with Viewport	20	No Bid				\$	5,108.00	\$	102,160.00
2B	Shield Light	20	No Bid				\$	506.00	\$	10,120.00
Section 2 Total			No Bid			\$ 112,280.00				
Section	Primary Award									
3A	Tactical Communication Headset	33	\$ 3,225.00 \$ 106,425.00				No Bid			
3B	Tactical Helmet	33	\$ 1,40	0.00	\$	46,200.00	No	Bid		
3C	Tactical Protective Gas Mask	33	\$ 1,75	0.00	\$	57,750.00	No	Bid		

RFB 2023-094 Annual Contract for Tactical Gear

			Topco America LLC d/b/a Range USA Law Enforcement Cincinnati, OH HUB - No			GT Distributors, Inc. Pflugerville, TX HUB - No CO-OP - Yes				
Item	Description	Qty	Unit Price Ext Price			Unit Price		Ext Price		
Section	on 1 Tactical Entry Body Armor Carrier System							Seconda	ry A	ward
1A	Carrier Vest	33	*	\$ 2,664.92	\$	87,942.36	\$	3,332.39	\$	109,968.87
1B	Carrier Accessory Pouch	60	*	\$ 29.99	\$	1,799.40	\$	51.83	\$	3,109.80
Discount Off List for Optional Items			*	0%			40%			
Section 1 Total			*	\$		89,741.76	\$			113,078.67
Section 2 Stand Alone Tactical Shield System										
2A	Stand Alone Tactical Shield with Viewport	20	*	\$ 4,984.98	\$	99,699.60	No E	Bid		
2B	Shield Light	20	*	No Bid			No E	Bid		
Section 2 Total			*	\$ 99,699.60			No Bid			
Section 3 Tactical Headgear System										
3A	Tactical Communication Headset	33		No Bid			No E	Bid		
3B	Tactical Helmet	33		No Bid			No E	Bid		
3C	Tactical Protective Gas Mask	33	No Bid			No Bid				

RFB 2023-094

Annual Contract for Tactical Gear

			Z Bar Supply Company LLC Muleshoe, TX HUB - No CO-OP - Yes		RG Beck AZ, Inc. dba TYR Tactical, LLC. Peoria, AZ HUB - No CO-OP - Yes		
Item	Description	Qty	Unit Price Ext Price		Unit Price	Ext Price	
Section 3 Tactical Headgear System (Continued)			Primary	/ Award			
3D	Night Vision Goggles with Advanced Target Pointer/Illuminator	33	\$ 9,675.00	\$ 319,275.00	No Bid		
Section 3 Total			\$	529,650.00	No Bid		
Section 4 Mobile Tactical Shield System					Primary	/ Award	
4A	Mobile Tactical Shield with Viewport	10	No Bid		\$ 5,948.00	\$ 59,480.00	
4B	Mobile Tactical Shield without Viewport	10	No Bid		\$ 4,502.00	\$ 45,020.00	
4C	Shield Light	20	No Bid		\$ 506.00	\$ 10,120.00	
4D	Ballistic Shield Dolly	10	No Bid		\$ 255.00	\$ 2,550.00	
4E	All-terrain Dolly Wheels	10	No Bid		\$ 1,188.00	\$ 11,880.00	
Section 4 Total		No Bid		\$ 129,050.00			

Notes: *Apparent low response from Topco America LLC d/b/a Range USA Law Enforcement for Section 1 did not meet specifications because the offered plate did not meet ballistics rating as required, and the vendor did not bid on all items in Section 2 as required per Addendum 1. There are no secondary awards for sections 3 and 4 as only one (1) bid was received.

RFB 2023-094
Annual Contract for Tactical Gear

			Topco America L USA Law E Cincinn HUB	nforcement ati, OH	GT Distributors, Inc. Pflugerville, TX HUB - No CO-OP - Yes		
Item	Description	Qty	Unit Price	Ext Price	Unit Price	Ext Price	
Section 3 Tactical Headgear System (Continued)							
3D	Night Vision Goggles with Advanced Target Pointer/Illuminator	33	No Bid		No Bid		
Section 3 Total			No Bid		No Bid		
Section 4 Mobile Tactical Shield System							
4A	Mobile Tactical Shield with Viewport	10	No Bid		No Bid		
4B	Mobile Tactical Shield without Viewport	10	No Bid		No Bid		
4C	Shield Light	20	No Bid		No Bid		
4D	Ballistic Shield Dolly	10	No Bid		No Bid		
4E	All-terrain Dolly Wheels	10	No Bid		No Bid		
Section 4 Total			No Bid		No Bid		

Notes: *Apparent low response from Topco America LLC d/b/a Range USA Law Enforcement for Section 1 did not meet specifications because the offered plate did not meet ballistics rating as required, and the vendor did not bid on all items in Section 2 as required per Addendum 1. There are no secondary awards for sections 3 and 4 as only one (1) bid was received.